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Note: Answer any 2 full questions, choosing one full question from each part.

LQN\ Questicns Marks|RBT| CO's
| PART A

\
l‘a Expand y=log(secx) up to the term containing  x° 6 |LZi€en
Using Maclaurin's series

bIf u=f(2x-3y,3y-4z,4z-2x) then show - that 7 (EZ1GEM
6u +4u +3u =0

| Blaad s the  extreme values of the functionl 70 [EZTGEE
f(x,y)=x’+y’—3x—12y+20

OR
[ tanx];l? 6 |L2i€an

2|

a

Evaluate (1) lim_,,

| . a‘+b" +c" L | l
i et e

b

If u=tan_l[%] where x:et___e—t : y:et+e—t Y L21CO2
| Find the total derivative % using  partial
J differentiation
s o olu,v, L2|CO2
f o=t y=2 =2 then find (u,v,w) J
& 0 z o(x,y,2)
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a Sol‘v:'e'

[2xy+ y—tany]dx+[x*—xtan® y+ sec’ y |dy=0

blProve that the system of parabolas
elf orthogonal

y2=4a(x+a) 1

4alSolve (x’+y"+6x)dx+y* xdy=0

olve %+ ytanx= yzsecx 7 |L2/CO3
OR
6 |LZICEH

after 40 minutes from the original ?

blA copper ball originally at 80°C cools down to 7 'L3[CO3
60°C in 20 minutes ,if the temperature of the air
eing 40°C ,what will be the temperature of the ball

¢ Find the orthogonal trajectories of r"cosn8=a" 7

L3 €03
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